
 

Figure S1. Representative chromatograms obtained for: juglone standard (green colour) and 
methanolic extracts obtained in the Soxhlet apparatus before concentration (blue colour), after 
concentration (red colour) and after concentration with the addition of juglone (pink colour), λ=420 
nm. 

Table S1. Equations of Trolox calibration curves in the concentration range of 2.5-25 µg/mL obtained 
using various methods for assessing antioxidant and solvents. 
 
Methods Solvent Calibration curve equation 
ABTS MeOH y = 0.0059x + 0.0059       R2 = 0.9957 

Ethyl acetate y = 0.0059x + 0.0076              R2 = 0.9948 
Chloroform  y = 0.0052x + 0.0068       R2 = 0.9950 
Acetone y = 0.0070x + 0.0092                   R2 = 0.9950 

DPPH MeOH y = 0.0043x + 0.0001             R2 = 0.9984 
 Ethyl acetate y = 0.0038x − 0.0068             R2 = 0.9985 
 Chloroform  y = 0.0037x + 0.0049             R2 = 0.9985 
 Acetone y = 0.0038x + 0.0100             R2 = 0.9975 
β-carotene MeOH y = 3.7470x + 2.2395       R2 = 0.9951 
 Ethyl acetate y = 3.5772x + 2.3449       R2 = 0.9952 
 Chloroform  y = 3.9507x + 2.5050       R2 = 0.9960 
 Acetone y = 3.5227x + 1.5163       R2 = 0.9984 
FRAP MeOH y = 0.0061x − 0.0036       R2 = 0.9960 
 Ethyl acetate y = 0.0044x − 0.0032       R2 = 0.9948 
 Chloroform  y = 0.0060x − 0.0046       R2 = 0.9955 
 Acetone y = 0.0043x − 0.0019       R2 = 0.9951 
CUPRAC MeOH y = 0.0064x − 0.0034       R2 = 0.9952 
 Ethyl acetate y = 0.0073x − 0.0053       R2 = 0.9951 
 Chloroform  y = 0.0017x − 0.0007       R2 = 0.9960 
 Acetone y = 0.0074x − 0.0030       R2 = 0.9981 
 



 

Table S2. Equations of gallic acid calibration curves in the concentration range of 2.5-500 µg/mL 
obtained using various solvents. 
 
Methods Solvent Calibration curve equation 
Folin-
Ciocalteou 

MeOH y = 0.0074x + 0.0113       R2 = 0.9991 
Ethyl acetate y = 0.0074x + 0.0145       R2 = 0.9982 
Chloroform  y = 0.0065x + 0.0131       R2 = 0.9984 
Acetone y = 0.0099x + 0.0175       R2 = 0.9983 

 

 

 



 
 
Table S3. F values and p values obtained during variance analysis for the data concerning total phenolics amount, expressed in [μg/g], in extracts obtained by 
extraction in the Soxhlet apparatus, maceration and PLE using different extractants (chloroform, acetone, ethyl acetate and methanol). Data from Table 2 
Bold values indicate systems where the results are statistically insignificant (F < Ftab, P > 0.05; Ftab = 7.71). 
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